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1 [1-1] 1 2 i
[1-2] -2 2
[1-3] 2 2
[1-4] 10v/3 2 1
[1-5] V3 2 5
[1-6] 47 2
[1-7] 73 2 1
1-8 n 2 5
1-9 2Bn+2) | bn+4 5 2
1-10] 648 2 W
[1-11] 12 2 5
[1-12] 3 2 5
[1-13] 13 2
[1-14] 3 2
[1-15] —1 2
[1-16] 4 2 5
[1-17] 2 2
[1-18] -2 2 1
1-19 /6 2 K
1-20 21 /3 2 K
[1-21] 5m/6 2 K
[1-22] 47 /3 2 K
[1-23] -3 2
[1-24] 1 2
[1-25] 7 2
[1-26] 1 2
[1-27] —6 2
[1-28] —1 2
1-29 6 2
1-30 3 2 1
1-31 —1/2 —05THH 2 M
[1-32] V3 2 5
[1-33] 90 2
2 [2-1] (a+1b)/2 455
[2-2] c 4 K
[2-3] 3/4 4 5
[2-4] < 4 K
3 [3-1] 2z 5 5l
[3-2] ?—1 [(@—1)(x+1) THA | 5 &
[3-3] z+1 4 5
[3-4] r—1 4 5
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Nationality No.
BIOLOGY (Please print your full name,
underlining your family name) Marks
Name
Answer Column
1) (2) 3) (4) (5)
L S W P I
"'1Te | @ | ® | © | ao
I K F o) G R
2 3 4 1 1x10=10
2&3 3x2=6
C C B |4 4
total 20
(1) (2) (3) (4) (5) (6) (7)
I J V A E P H
1 (8 9 (10) (11) (12) (13) (14)
Il Q U S D F W Z
2 3 4
1 1x14=14
D D B E 2,3&4 2x4=8
total 22
1
(1) (2) (3) (4) (5)
E B F O I
1
a b 1 2x5=10
2 3x2=6
C B E 3 4
total 20
1 2 3
\V; 1) (2) (3) (1) 2) % gx 3=9
F B E C D 3 4x2=8 (JIAAH)
total 20
1 2 3 4 5 6
Vv C A D A C E
3x6=18
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